Solutions for Class 7 Maths Chapter 7 Rt & LEEL
Ex 7.1

Y 1.
31 S T Twal & ufard & sear:
(a)18%

Bd:

(b) 547

3
(c) 340

2
(d) 272



Ud 2.

31 718 gzmad e & ufawa & sea
(a) 0.65
Bl
0.65 = (0.65x100100) ( “2-) = 65100-— = 65%
(b) 2.1
Bd:
2.1 x 100 210

2.1 = (2.1x100100) (

100 ) = 210100m =210%
(c) 0.02
Bl

0.02 = (0.02x100100) ( 222> 1%

100

) =2100-= = 2%
100
(d) 12.35

Bd:
12.35 = (12.35%100100) (-1 = 1235100~ = 1235

U4 3.

A TS {3 STepfa & faraem yiT W7 fean a1 § 81K 39 UeR 1A DIt o fva=
PIGRGRUIBE]
(i)

14§mw%|



T I BT R = (147 x 100)% = 25%

(ii)

Bl

35. UM &

) YT T UfaRd = = (352 x 100)%
= (3 x 20)% = 60%

(iif)

Bl

38. U AT &

3 YT T Ufard = (382 x 100)%
= (382 x 25 % = 7522% = 37.5%
Ty 4.

WW:

(@) 250 PT 15%
Bd:

15
o = |—x 250
250 =1 15% [100 ]

15 15 75
= |—x10| = | =—%x5]| = — =
[Buto] < [Bxs| = 2 < 31



(b) 1 9UC BT 1%

(c) 2500 T 20%
Bd:

(d) 1 T3 &1 75%

Bl

1 kg BT 75% = (75100%1) ( 17_050 x 1) kg
= 0.75 kg

Ty 5.

rguf MR 377 Pifere afe
(a) 3BT 5%, 600 B
Bd:

T 0T AR x & <l

X BT 5% = 600

5 —
13IT5100W x x =600

T 1120— x x = 600
120

T x = 600 x 120 = 12000
3ra: Twguf 1R 12000 B



(b) THHT 12%, 1080 B |
Bd:

T gt A1 x § <l

X BT 12% = 1080 2.

M 12100 x x = 1080 3.

W x = (1080 x 10012-2") 3.

x = (90 x 100) %. = 9000 3.
31d:, grguf Af 9000 %. B

(c) BT 40%, 500 km B |
Bd:

T 0T A1 x g <l

x BT 40% = 500 km
40100 x x = 500 km

T x = (500 x 10040%) km

I x = (25 x 50) = 1250 km
3fct: ol A 1250 km B |

(d) 3BT 70%, 14 fie Bl
Bd:

T 0T A1 x g <l

X B170% = 14 i e

70100 x x = 14 e
UWx = (14 x 107)) e

T x = (2 x 10) fiFe
Il x = 20 fiFe
31d:, T 01 20 e B

(€) ITPT 8%, 40 TR g

Bl

AT TRl AR x | I

x T 8% = 40 oflex
8100 x x = 40 AR
W x = (40 x 1008-") Tl

T x = (5 x 100) TR
T x = 500 e



Uy 6.

fau 7t ufawral &1 YR 9 TR el J Sear 3R 31U SR & WAdH =0 | foral -
(a) 25%

(b) 150%

(c) 20%

(d) 5%

Bd:

Y 7.
Qaﬁwﬁso%m%m 40% 38 YT Y 94 § | S| BT Ufa=id fba1 g2

IH%FIT&?[WEFI?MH 30%
TN &1 Ufd=Id = 40%
Sl BT UfA=d = (100 - 30 - 40)% = 30%

Uy 8.

fat &5 & 15,000 AJGIATST H ¥ 60% = e H YT form| I oI fos feaw ufa=rd
J e H HRT T8 forar? o 316 317U J1d R Ibd & fob arad H fosa Aagrarsi A
HdaM gl fbar?

Bd:

TAGH HRA arel Haararsdi ol Ufa=rd = 60%

qdcH 7 B4 ard Adardrsil & gfaerd

= (100 - 60)% = 40%

$d gAararsdi ! AT = 15000

3 AdaIdradi &1 T=AT1 fSrgi1 AdgM Hsl fhdl = 15000 BT 40%

(40100m x 15000) = 6000

3[d:, Tde A8l B dTdl &t T-AT = 6000




Uy 0.

HIGT 309 3d= & ¥ 4000 . I g1 TfS T8 IYb dd BT 10% §, I8 IGbT da- fha
87

Bd:

AT AT ®Tadd = x %, I

X BT 10% = 4000 3.

AT 10100—~ x r = 4000
100
m1101—10 x X = 4000
T x = (10 x 4000) = 40000
37d:, HYdT &1 ddT = 40000 .

UH 10.

TS WY fohdre 1 7, Th T (season) H 20 T Wl | 378 J I A 7 25% Ha ofid |
Sid T A @) G fat o

Bd:
100 H9f & T 25% A9 Sitd dt
20 ﬁ?ﬁﬁ@[ﬁ?{\?ﬂﬁ=251oo%

=14, x20=5



